HATR B T4 SC

e WA EA TR ST A
PATERETAR P12 @ 100 mm
@125 mm
@ 160 mm
@ 200 mm
@ 250 mm
@ 320 mm
frie: 90 mm ~1030 mm
SIEST: K10 bar
RO FrifE: -30 ~ +100 °C
Ak E IR RIR
i HE 4524 N - 46322 N (‘LA 6 bar )
Namurf#% NAMUR, VDI / VDE 3845
SRR VBTG TR RS S S8 A
ISO 8573-1: 2010 , class 3FnifE
HA TSR
FETE AL H: G BHARSEAL
Y AR
IAIIE: DIN EN 15714-3 \iiE

ZRI BT T ST IEIF IR, AR,
LT AL .

BRI

- SR BN BRI S 24 R, 745 1SO 15552 Rk
P TP RENE VS ZERE R B e R
(SC 200 LA N MARTL)

- FER IR 11 Namurbrifl, ey @, ICHREE

- IR )Y AT, TR o LA 7 AR PR

- K 5, 2 TS SRS JE R T AR (T

- LSRR, 2

- ATHHETMA: BHAR SR AL 2
PRAL BT T R, S/ NS B A SR AV Bl

- ity i A = RSB I R AR, SRR RIAT 25 6, TR R
T IRETRRE T, 1E T 2R g

-ATEX: CE 1 2G Exh T6 X Gb
CE 112D Ex h [IC T80°C X Db

Namurf AT d TR -

7\
EBR®D ARMATUREN

SC



SC 100 - SC 320

dh dh

Namur $% [ Namur %
VDI/VDE 3845 VDI/VDE 3845
(/é”é {55%;% G%“x 18
o ( A N
RS . 163
® { \\p ¥ <
< €
M6 x 9,5
— -/
o 40

TR B S A A




H frREshidTds SC

R [mm]
BB iR A B c D E M LK1  LK2 :ﬁ% T}nﬁ%%ﬁ BANL/ 1772
sC [mm] al 1atm
100 90 2190 72,0 148 32 48 M16x15  FO7 ; 3,4 187
100 115 2440 72,0 148 32 48  M16x15  FO7 . 3,6 2,27
100 140 2690 72,0 148 32 48  M16x15  FO7 - 3,8 2,65
100 165 2040 72,0 148 32 48  M16x15  FO7 . 4,0 3,04
125 90 2320 88,0 176 54 78 M20x1,5  F10 - 55 2,66
125 115 2550 88,0 176 54 78 M20x15 F10 - 59 3,40
125 140 2800 88,0 176 54 78 M20x1,5  F10 - 6,3 4,02
125 165 3050 88,0 176 54 78 M20x15 F10 6,6 4,62
160 90 2630 1075 216 54 78 M20x1,5  F10 - 8,9 4,50
160 115 2860 1075 216 54 78 M20x1,5 F10 - 9,4 5,75
160 140 3110 1075 216 54 78 M20x15 F10 - 9,6 6,80
160 165 3360 1075 216 54 78 M20x1,5 F10 - 10,0 7,79
160 215 38,0 1075 216 54 78 M20x1,5  F10 - 1,2 9,77
160 270 4410 1075 216 54 78 M20x15 F10 - 11,9 11,95
160 320 4910 1075 216 54 78 M20x1,5  F10 - 12,8 13,92
200 140 3415 1300 256 72 102 M30x15  F10 F14 | 16,1 10,43
200 165 366,5 1300 256 72 102 M30x15 F10 F14 | 168 12,30
200 215 4125 1300 256 72 102 M30x15 F10 F14 | 180 16,01
200 270 46755 1300 256 72 102 M30x15 F10 F14 | 194 19,43
200 320 5175 1300 256 72 102 M30x1,5  F10 F14 | 207 22,51
200 350 5475 1300 256 72 102 M30x15 F10  F14 | 215 25,16
200 400 5075 1300 256 72 102 M30x15 F10  Fl4 | 228 27,43
200 423 6245 1300 256 72 102 M36x2 F10  F14 | 234 29,00
200 450 6475 1300 256 72 102 M36x2  F10  F14 | 243 30,51
200 550 7475 1300 256 72 102 M36x2 F10  F14 | 269 36,66
250 215 4610 1630 322 72 102 M30x15  F10 F12 | 289 21,89
250 270 5160 1630 322 72 102 M30x1,5  F10 F14 | 307 27,49
250 320 5660 1630 322 72 102 M30x1,5  F10 F1a | 324 32,58
250 350 5060 1630 322 72 102 M30x1,5  F10 F14 | 334 37,83
250 400 6460 1630 322 72 102 M30x1,5  F10 F14 | 350 42,67
250 450 6960 1630 322 72 102 M36x2 F10  F14 | 369 47,52
250 500 7460 1630 322 72 102 M36x2  F10  F14 | 386 52,37
250 525 7710 1630 322 72 102 M36x2  F10  F14 | 394 55,00
250 630 8760 1630 322 72 102 M36x2  F10  F14 | 429 62,68
250 800 | 10460 1630 322 72 102 M36x2  F10  F14 | 485 81,44
320 320 5770 2015 406 72 102 M30x15  F10 F14 | 502 58,37
320 500 7570 2015 406 72 102 M36x2  F10 F14 | 587 87,09
320 575 8320 2015 406 72 102 M36x2  F10 F14 | 62,1 99,06
320 700 9570 2015 406 72 102 M36x2  F10 F14 | 67,9 119,01
320 715 9720 2015 406 72 102 M36x2  F10 F14 | 686 121,41
320 800 | 10570 2015 406 72 102 M36x2 F10  F14 | 725 134,97
320 1030 | 12870 2015 406 72 102 M36x2  F10  F14 | 832 171,68
77 (N)
4 bar 4,5 bar 5 bar 5,5 bar 6 bar
AT Fro | % Fro | % i % Fro | % i
100 | 3140 3016 3532 3393 3925 3770 4319 4147 4712 4524
125 | 4908 4628 5522 5207 6135 5785 6749 6364 7363 6939
160 | 8044 7760 9050 8730 10055 9700 11061 10670 12063 11639
200 | 12568 12064 14139 13572 15710 15080 17281 16588 18849 18095
250 | 19635 19132 22089 21523 24543 23915 26998 26306 29452 28698
320 | 32170 31667 36191 35626 40212 39584 44234 43542 48255 47501

i AR B 2 EL e A



HATR B T4 SC

ORI IR S

21

(fXFR SC 250 - SC 320)

16

8
| AW M 9| A M5
1| fiAK EN AW 6063-T66 12 | {EZER IR POM
2 | TH%E EN AC 46000 13 | #MER 1.4301
3 |z EN AC 46000 14 | BRAEAE Steel
4 [ NAMUR i 5 EN AC 46000 15 | fuff 1.4301
5 | THIEM C45 16 [ 48E; 1.4301
6* | 1 FEHT T 70 NBR 17 |k 1.4301
7| EIEEE 70 NBR 18* | U5 O I 70 NBR
8* | Bk 90N 19%* | #EPEN Flexo 150
9 |HhE Iglidur G 20 | 14T A2 -70
10* | 3 a5 O[] 70 NBR 21 | #)y 1.4301
11* | TEZEFFORL 70 NBR
* AR eSO BT SR UL
** 8C250/SC320 1]k
)\
E\ BRO; ARMATUREN www.ebro.cn ebrobj@ebro.cn

www.ebro-armaturen.com
01.2019

post@ebro-armaturen.com




